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Pi [\ _(0,780)

Ci(1180,400)

01 (1040,0)
X

0 Bi(710,0)




LFITABC = B iR ORI [ AB,  BC, , AC, ¥ Za . b | g

1100 C1
100 Y,
Al at
400
300
b1
630 B, 470

A:iB1=1104.536102, B:C:1=617.170965, AC, =1104.536102

Za, =30.657774° , /b, =114.136706° , £c,=35.205475440 °
T FEETHEREN P 2 QU E R B i B

1100 C,
100
C2
A> d?
- 540
630 0744
B2 PQ, =1300 , «,=36.86989765°

* ‘F:TMEITA,B,CEi*B,T‘ifT‘j‘Jﬁ‘FJQ%ﬂ'E'@ﬁ'F%ﬁ'fﬁiAsz » BC,  AC, M, /b, , Zc

Q

| A2B2=730.616178 , B,C,=715.891053 , AC,=1113.058848
710
N Za, = 39.21108254° , b, =100.6095614° , c,=40.17935606°

1040

= FHRTRERETP PN IR Y T ] B R SR [ 2R ED)
P,Q, =1259.245806° , f,=34.3210528°
s I'Tﬁ“)ﬁﬁﬁ%ﬂf,,"J P(0,0 )E@’%’L%ﬁﬁéﬁjg:@ﬁ‘cz'
A C'

%0.710)
C2(1180,710)

P:(0,0)

L3 A, (5P, C, T P, 230 Pr1 By Q. [P Q, U I, £ B, ,Q, . C, K
3SR 1 ARRR 0, 0) ~ Q,(1040, 710) ~ A, (80, 460) ~ B, (710, 90) ~ C, (1180, 630)

4581 P,C, ?’ %ﬁjﬁ[ﬁlﬁ LANR::
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71 37 31940

() FPC," H#=t = PC,: Y =10 Q) AB, HHH= = AB,: Y=t Ter
(31 P2Q2== AB, UL R R =R (X,y) =(399.202019 , 272.5321476)
71 4924
4 C, W=t = A, X+—
@ AC, Az V=1 m
(51 P,Q, %2 AC, FURETS = S(x , y) = (847.5604105 , 578.6229725)
= 71 5270 .
6): 1+ P, Q2 LA = P'Q,': Y=10sX" 13 (D k(x, y) = k =k(0,405.53846154)

(8)4‘2{8 (£B,B," LP,'Q,", ¥ P,'Q,'# B,

9B, H R = B,'(x, y)=(337.4257426 , 635.7425743)

(10)7* AB,' i = AB,' = 311.6945065

-, 311.6945065
730.6161783

(A1) 26(£6, AB,) = 6=Cos — 64.7468366°

(127 PC,' Fi AC,'B,'C, Hifi

A C'

Q2(10%40.710)
C2(1180,710)

b B2710,90)

P«0.0) = AC,'-AB,'=692.6369245

\ 4

(13):F P, A, flofHisis

y

A ¢
P (TR
/ ///
s B
Pa( ,0\)\ X
~ . 104 40980
A Ay (AR, LPQ, T RQ A RIIAA I = ANy =—— X+ —

b AR = A'(x, y)=(268.7721511 , 183.48868)

11



c. ] P,A, [lUSEE = P,A,’ = 325.4328885

(DR R'C, i ﬁlﬁg}g FUA,

P,"A, =325.4328885 -+ A,B,'=311.6945065 -~ A,C,'=1004.331431 - B,C,'=692.6369245

P,'Q, =1259.245806 - P,'C,'=1329.76432 « Q,'C,'=70.518135 - B,Q,' = 622.118411
Te T A T PO.0) R TS R

Y A B

B,
Ps(0,0)A: B Q" G

9\

L7 x TR A AR U

27 R A

P,(0,0) ~ Q,(1259.245806,780) - A, (325.4328885,480) - B, (637.127395,780) - C,(1329.76432,380)
3.FHET f‘, ﬁ'%g !

P,Q, =1481.249473 « AC, =1009.601579 - AB, = 432.6123731 ~ B,C, = 799.8411775

ZpB, =31.77483533 ° - La,=49.55267622° - ~/b,=106.1415807° ~ Zc, :24.305743060
4.(DHHQ, Exy(Q) L PQ,

(3 C, (Exy(C) L P,Q,

(33 B, (=:xy(B) L P,Q,

(4)3H A, (Exy(A) L P,Q,

5. P,Q, WA = P,Q, :y = 0.619418382x

6.5 xy(Q) B = xy(Q):y=-1.6144177x +2812.948718
7.5 xy(C) HA=Y = xy(C):y =-1.6144177x + 2526.795055
8.7 xy(B) A=t = xy(B):y = —1.6144177x +1808.589744

12



9.5% B A, FRIEE

B3

YA A3
L\

=Y

(D3 A, AA, xY(B) Lxy(BJFA, [Lxy(Q)iPA,] = AA,":y =0.619418382x + 278.4208868

Q) A A = A'(x, y) = (684.9960342 , 702.720022)

(3) B,A,'=90.90435423
4

03
\C3"

Q3)

3

\
\/

= P3P0 X p3p,0) X
10.75+ B,'C, PREE

(1)} B, [©B;B," L xy(C) & xy(C) ¥ B," ()i B, = B,'(x, y)=(958.6394867 , 9791504997)
QyrfgE = B,'C, =704.7800814 1158 A, 'C, BHEE = A"C,'=613.8757272

12.75 Q,C, " FhEE

(D3 C; [BCC," L xy(Q) % xy(Q)h7 Cy", PQy 2 xy(C)HQ,|

QT Q) (x, v = Q' (x, y)=(1131.146137 , 700656271)

G3)RQ,'C, HikE: = Q,'C, = 377.1834342

13.7% xy(Q) LA I

B," A" =90.90435423 , B,"C, =704.7800814 , A,"Q, = 236.623393 , Q,C,'=377.1834342

4 7 éj‘jphl}ﬁ;]%ll—,@j 374 v;&ggquﬂ
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YA

90.90435423

A9
i
i
'D'(411.9118279,

A O )
- P2,
613.875727
236.692293  377.8757272

LAVRLSY 2 AR AL " -(d) AR R

257 P,P,',B,B,",C,C," i

104 167450
X+
71 71

()FC,C,' HAH=' =C.C,1y=—

QR C, R = C,'(x,y) = (909.4683736,1026271678)  (3):}C,C,"*i#= = C,C,'=C,'C,

@) A A BEE = A A, = 3348035769 (5):f+ B,B, i = B,B," = 660.7923537
3 T A AL AR

O_B4 =660.7923537 , A,(X,y) =(90.90435423,0) , Q,"T =334.8035769 , C,'C, = 479.8105862

OA, =90.90435423 , A,Q," = 236.682293 , Q,"C,' = 377.18344342 , AC, = 613.8757273
0Q," =327.5966472 , OC,’' = 704.7800814

4.8 D A A2
(1)l B,T, {5888 AC, D (23 D, DD’ L OC, ¢4 D’

() B,DHAI=t = B,D:y=-0.99509192x + 660.7923537
@y AC, =Y = AC, :y = 0.781608662x — 71.05163075

St D (6)D(x,y) = (411.9118279,250.9022219) = OD' = 411.9118279
A= TS AR 51

Y 4
74 - }
B ZA N B N
I G2 D
As : > G
4 I " 4
1 T > e
e _:_D_._.i_ S G
| > F E .
Psdo,0) F E X X
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1.{&~1 -4(16) OD'=411.9118279 OD'=B,"'D' B, 'D'=411.9118279

2R B, HAE = B,"(X,y) = (1086.739156,1058.49779) 3.7 E A48 = E(x,y) = (1742.392144,0)
4 D' A AE

()23 By"E PHEE

Qa3 B," (=B, "F Lx i x it F

b D' (ED'G™ (FEF ¢ B,"F #*

¢./\By," EF 1, B,"F =1058.49779 , EF =655.652994

3+ D'G&B,;"G , D'G=216.9055479, B,"G =350.176153

W)~D'G&B,"G#H D'(x,y)=(1303.644704 , 708.321637)
5. DA = D'D, : y = 0.619418382x — 99.17985625

()5 AC, HAH=" = AC, 1 y = —0.09568724x + 512.4029377

() D8 = D,(x, y) = (850.6171931,427.7080692

6.1 T, A 420
Y
A o
As T
D Cs
X
(D1 B;D, & PQ, 7 T () B,D, H#=' = B,D, :y=-1.650158153x +1831.360965
(3)?f* Tlﬂ;ﬁ‘;"—;! = Tl(X, y) =(806.9174741,499.8195162)
(E Rl RE)
Y A A )
A‘B\(657.127395.78()) ) qg\bﬂ W \wk‘ﬁw: 0 \
A . 399 ® N \\ j\.x .
\%QQ\. \wﬂ Q‘SO@ b - C(1180,630)
%6&\.@\1\\); ;
(710,90)
—> P:(0.,0) > X
P B T'" D X s
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B,'T,'=169.7900791 , T,'D,' = 43.6997189 , A,B,"'=311.6945065

A T T2 A B Y 22 A
foge R

AC,:y

17 4924 104 - 71 5270
== x+2%7 BB,:y=-—x+1130, P'Q,' 1y = —— X+ -~
110 11 252 -y 71 2 QY 104 13

A,(80,460) , B,(710,90) , C,(1180,630) , B,'(337.4257426,635.7425743)

Lof T, e A

A2(80,460)

bl = T,'(X, y) = (477.6538707,731.4752169)
2.7F D, A A2

= D,'(x,y)=(513.7450829,756.1144043)

3.:D'D, H#=*=D,'D,:y= —%x +1508.642413 = —1.464788732x +1508.642413

458 D, 48 = D,(x,y) = (655.211295,548.896211)

S5RT,T, HHEF =TT, 1y = -1.464788732x +1431.137224

6.:5B,C, HA=" = B,C, :6036.779846 7R T, = T, (X, ¥) =(666.4261214,454.9637507)
81%ﬁ By 2-2 e AR A [l U
T, =(666.4261214,454.9637507), D, = (655.211295,548.896211)

YA
0} X A

Pi(0,780)

Ci(1180,400)

3 D, T, #'D,D,", T,T, LX i, ¢4 D,

= P,D,"'=655.211295 P,T,'=666.4261214 D,T,'=11.2148264
42~ BT LR BT 11

16



(4 = 8,# OD,'=655.211295 OT,' = 666.4261214 D,'T,'=11.2148264
131 D, A fE

(1)D,'D, : X = 655.211295 Q) AC, HHH=* = AC;: y=l—11x+%
)i D, 342 = D, (X, y) = (655.211295,352.2829955)
2. () PQ, WA= = PQ,:y=-0.75x+780 () T,(x, y) = (666.2461214,280.180409)
3.3 A (EAHT SXi0, ¢ B,C #H
(D B,C, H#=* = BC, :y = 0.851063829x — 604.2553191
Q) H &4 = H(X,y) = (1062.5,300)
Sdz S 7 | &
4.le%\|: | 1-# @@lﬁ II [ﬁ[%% [\[@
Au D)T'B QUH'C!
X T |
‘ C
L—] f
'
B Q X
(1)&}3‘[ P, Ni'e P1C1'j~ = X §IEI (2)}{%’} A,D,,T,, Bl,Ql,Cl’l’#rj =Y HIE[E[U;’&@

3) AA'=480 D,D,'=427.7170045 T.T,'=499.819591
B,B,'=780 QQ,'=780 C,C,'=380 HH' = 480

A P iR Y0 AR Y 2.3 AR

Py

P2(0,0) H' | X

LA =3, HH' (xy)=(1062.50) 3#H'[=H'H, L X{i % B,C, # H
2.5 H A A

(1) = B,C, :y=1.14893617x — 725.7446808

(2)H'(x,y) = (1062.5,495) ~ AH, :y=0.035623409x + 457.1501272
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xy(C,): y = —28.0714291x + 33754.28634 ~ Q,Q,': y = 0.035623409x + 672.9516546

D,D,':y =0.035623409x + 525.5554312 ~ T,T,"':y = 0.035623409x + 431.2233804

B,B,":y =0.035623409x + 64.70737961 ~ P,P,":y =0.035623409x
413

LiAH, - HA = ALH, ¢y = 0.035623409x + 457.1501272
2.xy(C): y = —28.0714291x + 33754.28634

DFQ,Q, = = Q,Q,': y = 0.035623409x + 672.9516546
2)FQ,Q, & =Q,'(x,y) = (1176.9763,714.8795627)
(3):+D,D,' = = D,D,"Y = 0.035623409x +525.5554312

(4)7+D, " = D,'(x,y) = (1182.20402,567.6701521)
(5).+A, 1 = A'(x,y) = (1184.654143,499.3515463)

(6):-T,T, HAH=" =T,T,": y =0.035623409x + 431.2233804
(T, 8 = T,'(x,y) = (1185.576572,473.4576595)
(8):B,B, /=t = B,B,": y = 0.035623409x + 64.70737961

(9)7FB, & = B,'(x,y) = (1198.616573,107.406188)
(10)5+P,' 2 4 = P,'(x, y) = (1200.918749,42.78081977)
31y(C,) - A

(1)Q,'C, = 84.93340289 (2)Q,'D,"' = 215.6491729 (3)Q,'T,' = 241.5750401

(4)Q,'B," =607.8587026 (5)Q,'P," = 686.3499678 (6)C,D," = 62.36880345

(7)C,A,' =130.7313256 (8)C,T,' =156.6416373 (9)C,'B,"' = 522.9252998

(10)C,P,' =587.5916607 (11)A,'B," =392.1939741

4-'T<T\\‘QzQzI N DzDzI A AzAzl A TszI A Bszl A Fl.zF)zlEllE—[iﬁé

(1)Q,Q,' =137.0631858 (2)D,D," = 527.3270238 (3)A,A,' =1105.354839

(4)T,T,' =519.4797542 (5)B,B," = 488.9265086 (6)P,P,' =1201.680507
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LiRsT- 1 = -4)

:0Q, =780 ~ C,C,'=380 + D,'D, =427.7170045 « A,'A =480 - T,'T, = 499.819591 ~

B, B, = 780

2.(572- 3 A

fH 1 OC, = 84.93340289 - OD,' =147.3022051 - OA,' = 215.6491729 - OT,’ = 241.5750401

OB,'=607.8587026 ~ Q'P,' = 686.3499678
3. AP

Q.(0,780) , C,(84.93340289,380) , D, (147.3022051 , 427.7170045) , A,(215.6491729,480)
T,(241.5750401,499.819591) , B,(607.8587026,780) , P.(686.3499678,0)

4.5} C,D,AT,B, =

= C,B, : y =0.76492761x + 315.0320951 D.B. : y = 0.76490723x + 3150444826

— DT, : y = 0.764828876x + 315.0560244
5.(37 3 ZFIFt pIHr i AN
0 C.B, : y = 0.76492761x + 315.0320951 , DB, :y = 0.764907231x + 315.0444826
D.T, : y = 0.764828876X + 315.0560244

(2) D, (147.3144771,427.7170045) (3) = A, (215.6647308,480) (4)T,(241.575145,499.8195911)
(St P & RS T-po £
Q.(0,780) C.(84.93340289,380) D, (147.3144771,427.7170045) A, (215.6647308,480)
T,(241.575145,4998195911) B, (607.8587026,780) P, (686.3499678,0)

(3 Q; (=xy(Qs) ™ #C,B;
(Z)iﬁo’CS’ D5’A5’T47P5’BS [’EJ‘ Xy(QS)’—I\Tz\j‘%\O”CS” D5I’A5I’T4" P5|’ BSI

B)F xy(Qs) HAH= = xy(Qs):y =0.76492761 x + 780

@)-C.C,' HHH=" = C.C,': y = —1.30731325x + 491.034563
(5):C, 48 = C.'(—139.4458736,673.3340012)
(6)7 DD,' H#=* = D,D,": y = —1.30731325x + 620.3031723

()7 D% 48 = D,'(x, y) = (~77.06480013,721.0510068)
19



8) AA' T = A A’y =-1.30731325x +761.9413601
(9):F A AZ = A'(—8.714546773,773.3340026)
(10T, T, HA=t = T,T,": y = -1.30731325x +815.6339789
(1) T, 2 = T,'(17.19586733,793.1535937 )

(12)7k PR HA=t = P.R': y = —1.30731325x +897.274407
(13): P, "2 = P,'(56.59303861,823.28961409)
(14):F BB, H)#=% = B,B.": y = —1.30731325x +1574.661736

(15)7 B, M2 = B.'(383.4794262,1073.334001)
7%{*, xy(Q5) _'-Fﬁﬁ%%“@

(1)C,'D,' = 78.53859529 (2)C,'A'=164.5924667 (3)C,'Q, =175.5641961

(4)C,'T,'=197.2140202 (5)C.'R," = 246.815601 (6)C,'B,' = 658.3698574

A A~ [T 6 L 5T 6 2 A
L =-7%vR

C.T,'=C,T,' =197.2140202 C,P,'=C,'P,'=246.815601 C,B,'=C,'B,' = 658.36985742.
2.0 -7 =R

D,'D, =D,D,"'=527.3270238 A.,'A; = A/A,'=1105.354839 Q.Q, = Q2Q2'=137.0631858

T, T, =T,T, =519.4797542 P,'P, = P,P,'=1201.680507 B,'B, = B,B,' = 488.9265086

3. (AR A
C,(0,0) D,(78.53859529,527.3270238) A,(164.5924667,1105.354839)Q,(175.5641961137.0631858)
T;(197.21402102,519.4797542) P, (246.815601,1201.680507) B, (658.3698574,488.9265086)

4§+ETA AB:Cs 1~ PQs j/ﬁlliéfj

ABy =789.810102 , B,C, =820.0609732 , AC, =1117.541945 , S =1363.70651

P,Q, =1006.9985345 , AB.C, =594652.88302 , AT, =586.7825656

C.T, =555.6550951 , B,T, =462.1452227 , /A, = 47.165141°
1.*&'%%%‘?%6[

A,(90.904354,0) , B,(0,660.7923537) , C,(704.7800814,479.8105862)
C,(704.7800814,4798105862) , T(327.5966472,334.8035769)

20



2.AB,

B,T = 462.7560838 ~ C,T = 404.096988 - 6,'= 43.09167278°

6,'=30.45714165 ° - 6,'=16.98238926 °

‘D"y A'(H)

P2(0,0) H'

AH, :y=0.035623409x + 457.1501272

xy(C,) : y = —28.0714291x + 33754.28634 , Q,Q,': y = 0.035623409x + 672.9516546

D,D,": y =0.035623409x +525.5554312 , T,T,'":y = 0.035623409x + 431.2233804

B,B,":y =0.035623409x + 64.70737961 , P,P,":y=0.035623409x

3:FALH,  HFEFY = ALH, 1y =0.035623409x + 457.1501272

4.

(i AH,
@PXY(C,) LAH, | ©AHIEC,Q, B, L AH, & AH IUHEIA, (i £IH, ) o

(S)iﬁjQz‘ D, T, B, ['Egﬁ[ Q,'B, U ~Q,Q,"~ D,D,"~ T, B,B,: ©Q,'B,7Q," ~D," ~ T," »

(4):Fxy(C,) /=" = xy(C) : y = —28.0714291x + 33754.28634

(5):Q,Q, A= = Q,Q,": y = 0.035623409x + 672.9516546
(6)Q,Q,' 1 = Q,'(x,y) = (1176.9763,714.8795627)
(7)7:D,D,' /=t = D,D,"Y =0.035623409x +525.5554312

(8):D,' & = D,'(x, y) = (1182.20402,567.6701521)
©).FA = A'(x y) = (1184.654143,499.3515463)

= T,T,":y = 0.035623409x + 431.2233804

L0)+T, A8 =T,'(x, y) = (1185.576572,473.4576595)
21
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(11):#B,B,"H,#=' = B,B,": y = 0.035623409x + 64.70737961

(12)7+B, & = B,'(x, y) = (1198.616573,107.406188)
(13)71*P, & 42 = P,'(x, y) = (1200.918749,42.78081977)

6.:Fxy(C,) - WETEJ P
(1)Q,'C, =84.93340289 (2)Q,'D,' = 215.6491729 (3)Q,'T,' = 241.5750401

(4)Q,'B," =607.8587026 (5)Q,'P,' =686.3499678 (6)C,D,'=62.36880345

(7)C,A,' =130.7313256 (8)C,T,' =156.6416373 (9)C,'B," =522.9252998

(10)C,P,' = 587.5916607 (11)A,'B,' =392.1939741

7-'Tj\‘Q2Q2 N Dz Dz N Az Az '(Az Hll) ‘Tsz N Bz Bz N Pz Pz HHES

(1)Q,Q, =137.0631858  (2)D,D,' =527.3270238  (3)A,A,' =1105.354839

(4)T,T,' =519.4797542  (5)B,B,' = 488.9265086 (6)P,P,’ =1201.680507

0O G D' A" T
LSV R = -4)
fH :0Q, = 780,D,'D, = 427.7170045, A,' A, = 480 T,'T, = 499.819591 B,'B, = 780

2.(4552- 3 AR E xy(Co) Y AR NS
# : OC, = 84.93340289 , 0D, = 147.3022051, 0T, = 241.5750401

OB,'=607.8587026 ,Q'P,"' = 686.3499678

3-??%‘%%5?@
Q.(0,780) , C,(84.93340289,380) , D (147.3022051,427.7170045) , A,(215.6491729,480)
T,(241.5750401,499.819591) , B,(607.8587026,780) , P.(686.3499678,0)
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431 C,D;AT, B+
= C,B; : y = 0.76492761x + 315.0320951 D,B; : y = 0.76490723x + 3150444826
J<C,D;AT,B5 H A=t = DT, :y =0.764828876x + 315.0560244

5.[F5) 3 THIFH JIH i A

0 C.B, 1 y = 0.76492761x + 315.0320951 , DB, : y = 0.764907231x + 315.0444826
D.T, : y = 0.764828876X + 315.0560244

(2) D, (147.3144771,427.7170045) (3) = A, (215.6647308,480) (4)T,(241.575145,499.8195911)
(5)7 f, ﬁ %liﬁ'%} % o 5

Q.(0,780) C.(84.93340289,380) D, (147.3144771,427.7170045) A (215.6647308,480)
T,(241.575145,4998195911) B, (607.8587026,780) P (686.3499678,0)

(D)3 Q, Exy(Q;) ™ FC,B,

(2)%@}0@5, D, AT, R, B[ L xy(Q,) , ##70',C,", D", A"T," R, B
3 xy(Q;) WA= = xy(Q,):y=0.76492761x + 780

(@) C.C.' HA=" = C.C,': y = —1.30731325x + 491.034563
(5)~C,""* 48 = C,'(—139.4458736,673.3340012 )

(6)7 D,D,' HA=" = D,D,':y =-1.30731325x + 620.3031723
(7):5 D, '#:A42 = Dy'(x,y) = (-77.06480013,721.0510068)

@) AA HFEZ = AA'y=-1.30731325x + 761.9413601
9 A8 = A'(—8.714546773,773.3340026 )

(10 T,T, H*= =T,T,":y =-1.30731325x +815.6339789
(L1):f+T," 452 = T,'(17.19586733,793.1535937)

125k PR, H#=' = PRy = —1.30731325x + 897.274407
(13)7 P, 18 = P,'(56.59303861,823.28961409)

(14):) BB, H#=t = B.B,':y = —1.30731325x +1574.661736
(15)7 B, 1% = B,'(383.4794262,1073.334001)

7%{*, xy(Q5) F Fﬁ ﬁ‘F—%ﬁ )
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(1)C,'D,'=78.53859529 (2)C.'A,'=164.5924667 (3)C.'Q, =175.5641961

(4)C,'T,' =197.2140202 (5)C.'P,'=246.815601 (6)C,'B,' = 658.3698574

o Y 6 BT Y 6 A

Y A P

A
?\

i
M

C D A T+ Py’ Bs' X

L
R

C.T,' =C,T, =197.2140202 C,P,' =C,'P,' = 246.815601 C,B, = C, B, = 658.3698574
2. [ PH-7 TR,

D.'D, = D,D,' =527.3270238 A'A, = A/A,'=1105.354839 Q.Q, = Q2Q2' =137.063185

T,' T, =T,T,'=519.4797542 P,'P, =P,P,'=1201.680507 B.'B, =B,B,"'=488.9265086

3. £ A R A
C,(0,0) D,(78.53859529,527.3270238) A,(164.5924667,1105.354839) Q,(175.5641961,137.0631858)
T,(197.21402102,519.4797542)  P,(246.8156011201.680507) B,(658.3698574,488.9265086)

4.FFETA ABsCy ™ PyQg ﬁlﬁfsti’iﬁ
AB, =789.810102 - B,C, =820.0609732 + AC, =1117.541945 - P,Q, =1006.9985345 -

S =1363.70651 + AAB,C, =594652.88302 + AT, =586.7825656 - BT, = 462.1452227 -

C,T, =555.6550951 ~ ZA, = 47.165141°
A Y 4 A (PQER ) ¥ vl 1!

(0,660.7923537)

\; Ci(704.7800814,479.8105862
5760)

A:90.90435423,0)

1.*&'%%?}%6[
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A,(90.904354,0) , B,(0,660.7923537), C,(704.7800814,479.8105862)
C,(704.7800814,4798105862) , T (327.5966472,334.8035769)

2.AB, = 667.0158441 - B,C, = 727.6464549 - A,C, = 779.1415834 - B,C, = 727.6464549 -
AT =410.0203369 - B,T =462.1560838 ~ C,T = 404.096988 ~ ¢,'= 43.09167278° ~

6,'=30.45714165 ° - 6,'=16.98238926 °

—{ JANEN
As
B
Cs A
AT, = 586.7825656 AT =410.0203369
B,T, = 462.1452227 B,T =462.1560838
C,T, =555.6550951 C,T =404.096988
6, = 41.993251 6, = 43.09167278°
6, = 40.388453 0," =30.45714165 °
6, = 44.931862 6,' =16.98238926 °

SRt
ST O IR 2 PR A -

L7 SYD LT > B 2R PQ R ICR] PQ B4R BT~ B3 iR fisels porge el -

AR S 6 BT VAR )
2.7 5V 6 AIRIF] > BRORLAABC ST oo g b B YRR A A B C = B
AR -
BPERER)A TR 97 4 22 5 6 AP LR IO - [ 55 PP HL e 2A
XYAA ELISSEPEIE 5T 4 57 6 [ SR, - 15T AA 5T 6A IR - 1]
;ﬁpg[ﬁl% o yp[ﬁl 15-A Fr-. o
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